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A = bh
Area = base • height
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A = bh
Area = base • height

Write these formulas down on under Concept 23 in your 
note-taking guide.

A =½bh
Area = ½•base•height

Examples of #1-9 on your worksheet:

A = bh
A = 5(15)
A = 75 in2

5 in

15 in

A = bh
A = 13(16)
A = 208 cm2

13 cm

16 cm

14
 c
m

23 m

11 m16
 m

A = 1/2bh
A = 1/2(11)(23)
A = 126.5 m2
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Use the area to find the missing measure on each figure.

12 in.

h

A = 48 in2
8 cm

h

A = 40 cm2

Examples of #10-15 on your worksheet:

  A = bh
48 = 12(h)
12     12
  4 = h

 A =½bh
40 = ½(8)(h)
40 = 4(h)
  4     4
 10 = h
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